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8. 3,780

9. 1,189

10. 1,080

11. 5,487

12. 2,223
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Use lattice multiplication to solve each problem.

1)
88 × 14 =
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1

4
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3 3

3 2

8 8

2

1

2 2

2)
68 × 34 =

6 8

3

4

1 2

2 3

1 2

8 4

4

2

3 2

3)
13 × 37 =

1 3

3

7

0 0

0 2

8 1

3 9

7

0

4 1

4)
81 × 34 =

8 1

3

4
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5 4

4 3

2

2

7 4

5)
25 × 82 =

2 5

8
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4 4
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4
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14 × 75 =
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5

1
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12)
15 × 51 =

1 5

5

1
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6 5

5 5

1

0

7 5

Answers

1. 1,232

2. 2,312

3. 481

4. 2,754

5. 2,050

6. 4,356

7. 1,400

8. 3,332

9. 583

10. 4,240

11. 1,050

12. 765
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Use lattice multiplication to solve each problem.
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11. 2,028

12. 3,772
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Use lattice multiplication to solve each problem.

1)
43 × 55 =
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6 5

0 5

0

2

3 5

2)
50 × 53 =

5 0

5

3
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5

2
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3)
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9 2

5
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4
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3 3
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52 × 89 =

5 2
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9
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2 8

0 6

5

4

6 8
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1. 2,365

2. 2,650

3. 4,692

4. 3,212

5. 1,140

6. 8,730

7. 5,022

8. 3,276

9. 1,219

10. 3,034

11. 9,306

12. 4,628
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Use lattice multiplication to solve each problem.

1)
18 × 35 =

1 8

3

5
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3 0

3 4

5

0

6 0

2)
53 × 85 =

5 3

8

5
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0 5

0 4

5

4

5 5

3)
76 × 55 =

7 6

5
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4)
52 × 57 =

5 2

5
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Answers
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3. 4,180

4. 2,964

5. 7,920

6. 722

7. 4,929

8. 2,241

9. 4,320

10. 1,024

11. 798

12. 3,010
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